CATHOLIC HIGH SCHOOT,
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PRIMARY ONE MATHEMATICS
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Which two numbers add up o {42

(1) Sand?.
(2) SandB
(3) Obands
4) 6and® . {

What 13 the mussing number in the nwviber senrarze below?
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The clock below shows

Which shape comes next?
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Complete the following number pattern
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Study the greph below.

~.

| o
E]
2
~)
e
'\/\
)
yd “)
/3

P N S

_ Ly oy e ey ey
Nichelas : (\_\ S/ \_ < \ N ,/). o -
: T ey e o
o SN > } YT
Dylan ST NN
(’_“N“‘) “\——_\’? {““\""‘\) J_\‘—t) 1
Joshua NN NS N _ N
TS l
. N “ :
Jeremy > N i )
Brian and _have 12 heart-shaped toakles alogethes
(1) . Nicholas
2)  Dylan
(3) Joshua
4y Jeremy ( 3



ol

[#.93

y IO N g Ny y o % {
Lonik at the nicturer below.

{} 3

. L\t

\ v

7y 8 .

15 -y P AP

(1) 2 grounsel’
1 o N C lft\
2 rmoups o €

oy -

| [ TP Ao}
{5 2 ETOUDS &I
(4 g of 2

< i K
14 banenas ars of

srad aqually among 7 monkevs,

Esch monkey getx __ bapanas,

g\” ¥ "\4 <7
S~ -
(.f.‘) Z
3y 3
a4y 7

sh 1s about paper ofips Jong.

e’

o~



4y 20 {
There are 4 boys sitting 1 & row,

Mark 1s next o Dave.

John is batween Paul and Dave

Paul s the last from the vight.
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Which one of the following shows the boys sitting in the come

(1)  Mark  Dave , jobn | Paul
(2}  Dave, Mark , Faul. John
(3) Peaul, Dave, John, Mark
(4y  Paul, JOHL“DLJH . Mark
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(a)  Twenfv-cgven - .
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2% 85 comes just aite

2% Fillin the correct number jor the number hond below.
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Draw a shorter stick than

Circls to show how 4 children share the foik
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29, Mach to make 70,

2 » * thirty
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LA * forty
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Find the answer:

40 -7 = tens _
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he graph below shows the number of pies eaten
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40.  Look atthe diagrams below.
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Read the story surag carefuily,

A1, Thereare 15 guils toan Art class.
Thers are 5 more boys than g rirls.
How many boys are there in the class?

e . et e P,
E ; 2N ' ' . ’_E j.- i
; H N “ i . | i
: i '!-» j . - i H
; { b _!) : {

L L e L i

How manv rare toy cars does Mike have than Tom?
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There are 6 bags. Rach bag has 4 lollipeps,
, How many lolipops are there altogether? -
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There are Jotlipaps altoget

There are S hamburgers in one box,
How many hamburgers are there in § boxesg?
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